


EXPLODED VIEW:  FRONT AIR DUCT 4.2L G3 TEL 

DRAWING #: 0G9755         GROUP D 

 

  

 

ITEM  PART#   QTY. DESCRIPTION 

1  0C2634A  1 ASSY ACCESS COVER    
2  0G9523  1 PANEL FRONT RAD DUCT OUTLET 
3  0G9521  2 PANEL SIDE RAD DUCT OUTLET   
4  0G9522  1 PANEL TOP RAD DUCT OUTLET 
5  022097  5 WASHER LOCK M6-1/4   
6  022473  10 WASHER FLAT 1/4-M6 ZINC 
7  049813  5 NUT HEX M6 X 1.0 G8 YEL CHR       
8  0C2454  12 SCREW THF M6-1 X 16 N WA Z/JS 
9  047411  5    SCREW HHC M6-1.0 X 16 C8.8   
10  029289  1 TAPE ELEC 1/2 FOAM (39” LG) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
REVISION: -A- 

DATE: 8/15/08            PAGE 2 of 2 


